Statistics Test 2 Cheat Sheet

If A and B are mutually exclusive then
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If A and B are not mutually exclusive then
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If A and B are independent events then 
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If A and B are not independent events then 
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You can rewrite the last equation to get 
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The counting principle states that if you make two choices then the total number of choices is the number of first choices times the number of second choices left after the first choice has been made and so on.

The number of arrangements of n objects is n!

The number of ways you can select r objects from n objects is:

         (a) 
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 if the same objects selected in different orders give different selections

         (a) 
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 if the same objects selected in different orders give the same selection
.
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